Lesson 5: Geometric Sequences
Task

If you folded a piece of paper in half 50 times how thick would it be?

The Answer:
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You try with your piece of paper.

The world record for folding a paper in half is & Z '2
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A piece of paper is approximately:

254 pieces of paper =

So divided by

There are inchesin___ foot

So divided by =

There are feetin mile

So divided by
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What about this sequence from above:?
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What is the 3" term of the sequence?
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What is the 10* term of the sequence?
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'?art 2: Geometric Sequence

Geometric Sequence:

A pattern of terms where each term after

the first is found by &l

the previous term by a constant,
NON-Wxty _ number called the
copmowy  _rexto , .
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Explicit rule:
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" Recursive rule:
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Part 3 Patterns and Sequences Examples M 43 ]
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a. What is the common ratio? «a” Whatis the common ratlo?I’o
‘ = 3 r - = - ‘-';

Write the explicit rule:
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c. Write the recursive rule:

d. Find the 8t terrg.' ed? Find the 12t termn’_l /"‘""—-—-—-—-___’
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& Write the explicit rule:

c. Write the recursive rule:

6. Consider the sequence 81, 27,9, 3, ...

7. Consider the sequence -24, 12, -6, 3, ...

a. What is the common ratio? 2% . J;\ 2 A What is the common ratio? \ 2~ L
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b. Write the epr|C|t rule: b. Write the explicit rule: ;
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d. Find the 9thaterrr; -I—~\ 3| o (;_5’(”__ ;E.\_ Ti\‘\ . Find the 11* term. | :—'Lq(/:{;{)
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Ticket out the door: a" - :21_ .8 -3
Create your own geometric sequence. What makes it a geometric sequence? I(ﬂ‘f ng
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